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Emd SARDAR PATEL UNIVERSITY
B.Sc.(First Semester Examination)
General Chemistry-1. (USO1CCHE21)

Date:-11th Nov 2019 Total Marks :70
Day:- Monday Time : 2-00 to 5-00
Note: (i) All questions are to be attempted.(ii) F:gures to the right indicate marks.
Que.l  Choose the correct option for the following: 10
1 Both symmetrical and unsymmetrical alkanes can be synthesized using.........

(a)Wurtz reaction (b) Corey-house reaction

(c) Kolbe reaction (d) Wurtz-fitting reaction
2 Initiation step for the photochemical halogenations of alkane i 18...e.i

(a) exothermic (b) endothermic

(c) both exothermic and endothermic  (d) depend on alkane
How many isomers are possible for CgH;, ?
()4 (b)S ()6 (&) 7
4 element does not form ionic compound readily.
(a)Be (b)Sr (¢) Ca (d) Mg
5 sp hybridization orbital has % of s character.
(a) 25({b) 50 (c} 75 {d}) 100
6 is not gas at room temperature.
(a) H, (bYN; (c) Br, (d) Ne
7 Which of the following is the Lowery Bronsted base as well as Lewis base.
(@ NH," (b)NH;  (c)BF;  (d)CO,
8 , is a sparingly soluble salts.
{a) KCI {(b) AgCl (c) NaCl (d) All of these
9 Volumetric analysis and Gravimetric analysis are the types of:
_(a)Thermal analysis (b} quantitative analysis
(c) optical analysis {d) All of these
10 The difference between observed value and true value is called ?
(@) Accuracy (b) Error (c)Precision (d) Reproducibility
ue.2  Answer in short (Any ten) © 20
What is Grignard Reagent?
Explain Wurtz reaction?
Define E,| reaction?
What is Modern Periodic Law? _
Name the Factors affecting the magnitude of ionization energy?
Which group of periodic table has highest value of electronegativity?
What is common ion effect?
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Define sparingly soluble salts with example.
Discuss the Concept of Lowery-Bronsted acid-base with snitable example.

10 Discuss limitations of Chemical method?
1 Discuss Advantages of instrumental method.
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12 Explain: Accuracy and Precision.
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Attempt the following
Write a note on Markovnikov’s rule,
Calculate the percentage of isomeric products obtain upon monochlorination of
Isopentane. The relativity of 1o, 20 ,and 30 H are 1: 3.8: 5.
OR
Attempt the following
Write a note on halogenations of alkane.
Discuss E; reaction mechanism with example.

Attempt the following

Define electron affinity. Discuss the Factors affecting the magnitude of electron
affinity.
OR
Discuss the Defects of Mendeleefs petiodic table.
Attempt the following
Discuss the Arrhenious acid —base concept with its limitation.

Calculate the solubility of CaF, (i) pure water (i} in 0.1MCa(NO, ), Solution

. Ksp =1.7 x 10
OR
Attempt the following
Write a note on Selective precipitation with suitable example
Calculate pH value of a solution obtained by mixing 50m! of 0.2N HCI with 50ml
of 0.1IN NaOH.
Attempt the following
Define the term chemical analysis and discuss application of chemical analysis .
List out different methods for the minimization of systematic error and explain on
any three of them.
OR
Attempt the following
Define Error .Give Complete classification of error

The following values were obtained for the determination of cadmium in a sample
of dust: 4.3,4.1,4.0,3.2, 4.2, 3.9 and 4.0 pg g-1. Should the value, 3.2, be rejected?

(Qerit=0.570). |
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Note:(i) All questions are to be attempted.(ii) Figures to the right indicate marks.
Que.l Choose the correct option for the following: 10
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